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Class 4

Important Instructions:

Name of the Candidate (in Capital Letters):

Candidate Signature: Invigilator’s Signature:

All questions carry equal weightage.

10 minutes are provided for filling the OMR sheet and reading the instructions.
Exam duration is 1 hour only.

Please ensure that this question paper has 50 questions. It is divided into the following
sections —

For class 1st to 5th: Mathematics, Science, English & General Knowledge

For class 6th to 10th: Mathematics, English, Science, General Knowledge & Logical
Reasoning

Every question has one correct answer.

Please read the instructions for answering given on the OMR sheet. Candidates must
submit a completely filled OMR sheet before leaving the hall.

There is no negative marking.

SPECIAL INSTRUCTIONS:

OMR sheets will be processed by electronic means. Invalidation of answer sheet due to
incomplete/incorrect filling of the answer sheet will be the sole responsibility of the
candidate.

Candidates must completely fill their Hindustan Olympiad roll number (not school roll
number), class, stream (for class 11 & 12 only).

Do not write or mark on this answer sheet outside the demarcated areas.

Multiple answer markings are invalid.

Candidates must consult the invigilators to get the OMR sheet details cross-checked, in
case of any doubts.

An example is given for correctly filling the OMR sheet.



| Duration: 1 Hr | Date: | No. Of Questions: 50 | Max. Marks: | Class: 4

Section A: Mathematics

1.

Number of people who visited the Science museum on Monday and Tuesday were 3,452
and 5,321 respectively. How many more people visited the museum on Tuesday than
Monday?

AR 3R AITAAR Y fAT TUGTAT BT GIRT B dTall ! AT HHTT: 3,452 3R
5,321 ¥t | AR &1 a1 H HTAAR D fava e @ A SogTerd &1 GR1 faan
(A) 2,131

(B) 1,869

(C) 2,268

(D) 2,869

How many hundreds are there in 435007

43500 H fram v sl 82

(A)43

(B)35

(C)435

(D) 4350

42 is a multiple of

LB TH TGS

(A)S5

(B)8

(€4

(D)7

Ria spent 235 on shopping. The amount of money left with her was X15. What fraction of
money did she spend?

3 T IR 2 35 T fhu | 3T U 5=t 3hH 2 15 A | 39 O & Tohd= 3ixr @
feu?
35
(A
15
(B);:
7
€
(D)2
The difference between 5 hours 32 minutes and 3 hours 47 minutes is
(A)1 hour 45 minutes
(B) 2 hours 55 minutes

(©) 1 hour 55 minutes
(D) 2 hours 15 minutes




5 °e 32 fiFe 3R 3 9¢ 47 fiFe &1 3R

(A) 19eT 45 e
(B) 2 %cT 55 fie
(C) 1der55 e
(D) 2 %cT 15 fiHe
. Angles __ and 57° are complementary.
P 3R 57° R
(A)47°
(B) 33°
(C)123°
(D) 43°
. 3and 7 are factors of
3R 7% PRD ¢
(A) 14
(B)7
©)1
(D) 42
. Which of the figures has the largest perimeter?
Py 3fme A e g3 uRfy 82
(A _
4em
®)
6 cm
©
lem
(D)

4em

. 100 hundreds — 64 tens =?

100 YS! - 64 & =?
(A) 9440
(B) 360



10.

11.

12.

13.

14.

(C) 9360

(D) 3600

Amit shared 4500 equally among three of his friends. How much amount did each
friend get?

3T A 3 JF SRl & o THH U T 2 4500 137 fHU | TS 77 &f fosait
I it

(A) 21500

(B) 21450

(C) 21260

(D)Z900

Out of gth of a pizza, Rohit got %th of the pizza and Anu gets %th part of it. What fraction

of the pizza was left?
U TSl & 2d wriT #, Afeet 1 forssin b1 2af feam foratm 3R e b1 b 2ai foa
T2t | OSST 1 forarr 3=t &= U2
3
(A)Z
(B)Z
©)-
(D)
Which is the longest out of the following?
fafiied & & Te a1 1 a1 8?
(A)7 mm
(B)0.5cm
(C)0.8cm
(D)6 mm
A box contains 52 apples. Three-quarter of the apples in the box was rotten. How many
apples were edible?
UH S H 52 Y9 8Id § | ST H <1 TS 99 93T g3 UT| fohdm oa |regy 47
(A)39
(B)13
(C)36
(D) 16
Mohit walked 4 km every morning. How many kilometers had he walked after 2 weeks?
Rd &R gae 4 foptft e Sran 11 2 I8 & 91 98 fobam fpaiieR Iar um
(A)56 km
(B) 8 km
(C) 48 km
(D) 40 km




15.

Every time a number is entered into a function machine, a different number comes out. If
6 goes in, 2 comes out. If 12 goes in, 4 comes out. If 15 goes in, 5 comes out. Which
function is performed in the machine?

(A) Multiplied by 3

(B) Subtracted 4 from the number

(C) Divided by 3

(D) Divided by 2

TR T TR P! Teh HaR AR H o 10T ST 8, T SIevT T-AT i 3Tt g |
Ife 6 SieX SIAT 8, Al 2 STER 3T 8 | 3R 12 3R SIdT 8, ol 4 18R AT 8 | 3R 15
3R ST g, I 5 S1Ex 3MTdT & | 7= & o= 91 B foan Sirar 82

(A) 33 T[T fopar
(B) 4 ) T-T Y GeTIT ST &
(C) 33 fawfora
(D) 2 ¥ fauifora

Section B: Science

16.

17.

do not have backbones.
(A) Invertebrates
(B) Vertebrates
(C) Reptile
(D)Worms

g Higg 1ol o

(A) SHHRTDI
(8 Jg
(C) |rg
(D) B
system circulates blood around the animal body and consists of heart, veins
and arteries.
(A) Skeletal system
(B) Circulatory system
(C) Nervous system
(D) Respiratory system

UMt STHaR] & TRR & IR 3R o AT Ball & 3R 399 gad, 79
3R yafEi g 1



18.

19.

20.

Which of the animals can hear but does not have visible ears?
(A)Dogs

(B) Cats

(C) Frogs

(D) Giraffe

DI Y TR G Tabvdl & Al B o] [aad?

(A) T
(B) foreet
(C) Hed
(D) foRTEH

is the lowest layer of atmosphere.
(A) Stratosphere
(B) Mesosphere
(C) Troposphere
(D) lonosphere

JRHST B Jad Faeh )Ra &

(A) GHATTHS

(B) AHSA

(C) &y Hed

(D) 3T HSd

Asthma is a lung disease caused due to pollution.
(A)air

(B) water

(C) soil

(D)sound

SRYAT Sl Bl STHRT § Sl TGN & HRUT BT

(A) I
(B) U
(©) faet
(D) @i+




21. Saffron colour in our national flag stands for
(A)Peace
(B) Fertility
(C) Truth
(D) Courage

FTIRIBI @I HYE@IT_ Hfougl

(A) Iife
(B) SUSITSHUA
(C) 9
(D) dTex
22. is the process of using worms for the degradation of organic matter into
nutrient-rich manure.
(A) Aerobic composting
(B) Vermicomposting
(C) Anaerobic composting
(D) Bioremediation

Y dl ¥ UG [T H ST ueref & erur & forg $ig & IuanT &t ufhar gl

(A) TSI TG
(B) TR
(OECIREIREEI
(D) Sifd® ITAR
23. Small hills of sand are called
(A) peaks
(B) dunes
(C) hillock
(D) tump

d &1 B UgIfsal o CIRSINIG]

(A) Tifear

(B) fewar

(C) B Ut
(D) d&U

24. The first step that the farmer performs to grow crops is the field.
(A)watering
(B) ploughing




25.

26.

27.

(C) harvesting
(D) adding fertilizers

P B I & T & el el IQdl & 98 @d gl

(A R

(B) S

(C) Pel

(D) ECIFESIEI

Wells and hand pumps are used to store and take out
(A) ground water

(B) river water

(C) water from lakes and ponds

(D) rain water

Haff IR g8 UUl &1 IR ! YUEId B 3R e & fore fosan
EicIE]

(A) ol

(B) el T Ul

(C) Sl 3R araral § gt

(D) YT &1 U=

How much time is taken by Earth to revolve around the Sun?
(A) Season

(B) One month

(C) One day

(D) One year

T2t &1 g & IR SR FaH A H fora =1 T8 AT 82

(A) g

(B) TP Wl

(C) TH faA

(D) Ueh HTc

Which part of seed grows into a plant?
(A) Spore

(B) Embryo

(C) Pistil

(D) Fruit




28.

29.

30.

I BT H-F1 HIT 0 | FgdT 27

(A) ST

(B) YOI

(C) qw-a

(D) B

The energy an object gets from its motion is
(A) Electrical energy

(B) Chemical energy

(C) Kinetic energy

(D) Potential energy

freft ag ) ST T A U1 1 ATl S @

(A) foegd i

(B) IS Sl

(C) o FHat

(D) ffaw Foif

When the water is poured from a jug to an empty pan, what happens to the amount of
water?

(A) It becomes less

(B) It remains same

(C) It becomes more

(D) None of the above

ST Ueh ST el O H Urt ST S 8, & UT=iT bt JE o Bt 32

(A) T8 HH I ST §
(B) QAT B @ §

(C) T8 NS g AT g
(D) TR Y P13 off 7k

Male part of a flower is called
(A)Corolla

(B) Stamen

(C) Pistil

(D) Sepal

Teb Tl o - HITT I g S 3 |
(A) &t



(B) TU-HTR
() Tu-Af
(D) Bd &I UHSI BT YT

Section C: English

31. of the boys did not want to go to the zoo.
(A)Much
(B) Some
(C) Little
(D) More
32. My brother likes to visit countries.
(A)Foreign
(B) Foriegn
(C) Phorin
(D) Phorein
33. Choose the odd one out.
(A) Library: Books
(B) Lab: Instruments
(C) Office: Students
(D) Kitchen: Utensils
34. Choose the incorrect sentence.
(A) I like to watch cartoons.
(B) We lose the match.
(C) You are a good magician.
(D) She was playing with her brother.
35. Rashmi always a lot of mistakes when she teaches Mathematics.
(A)Make
(B) Makes
(C) Made
(D) Making
36. Choose the odd one.
(A) Beaker
(B) Dropper
(C) Ammeter
(D) Flask
37. We celebrate Independence Day 15" August every year.
(A)To
(B)On
©In



(D) At
38. Choose the correctly spelt word.
(A) Comitment
(B) Commitment
(C) Cumitment
(D) Cummitment
39. My friend suggested that we go home as it was about to rain.
(A)do
(B) shall
(C) need
(D) should
40. While Anita , the cat jJumped onto the couch.
(A)sleeping
(B) will sleep
(C) has slept
(D)was sleeping

Section D: General Knowledge

41. Where is the tower of silence situated in India?
(A) Delhi
(B) Mumbai
(C) Kolkata
(D) Arunachal Pradesh

HRd A A1 &t HFR Pl fRUd 82

(A) feeeit
(B) §F%
(C) PIAIdl
(D) UM UeT
42. Who was the first president of America?
(A)Barack Obama
(B) Donald Trump

(C) George Washington
(D) George H. W. Bush

sritfeepT % UEd IpuR B

(A) ST ST
(B) SIS ¢/



(C) Sifel aTfRfTe
(D) SISl T, S&eg, g
43. What is the approximate length of alimentary canal?
3MER =Tefl B AT deTs el 82
(A)8m
(B)7.5m
(C©)9m
(D)10m
44. Who was the first Asian to be awarded the Nobel prize?
(A) Mother Teresa
(B)C. V. Raman
(C) Kailash Satyarthi
(D) Rabindranath Tagore

T ISR F 1T g4 aTet Ugd TRETS D 47

(A) HaR 9T
(B) Tt ot T4
(C) Farer gearff
(D) AT SR
45. Which state in India has the maximum population?
(A)Jammu and Kashmir
(B) Uttar Pradesh
(C) Rajasthan
(D) Tamil Nadu

HRd A 5T I &} T89S o I g2

(A) S 3R HIHR
(B) SR U
(C) TSTRIM

(D) TS
46. Which gas is found in the most abundance in our planet’s atmosphere?
(A) Nitrogen
(B) Oxygen
(C) Carbon Dioxide
(D) Ozone

SHR U8 & JIaTaR0l H i 1 TG Ja 31fdes AT H UTS Srdlt 82




47.

48.

49,

(A) TrECIoH
OEESISE
OKIEEEEEICRIES]
OEISIE

When is the World Environment Day celebrated?

(A)5 June
(B) 21 June
(C) 7 April
(D) 22 April

fay yafarur feaq sa 71T Sirar 82

(A) 5[

(B) 219

(C) 7 31U

(D) 22 310

Which planet is known as the Red Planet?
(A)Mercury

(B) Saturn

(C) Venus

(D) Mars

5T U8 31 a1 U8 & TU H ST 11 82

(A) URT

ORIEPH

(C) P

(D) HIT Ug

Who gave the slogan Do or Die?
(A)Rabindranath Tagore

(B) Subhash Chandra Bose

(C) Mahatma Gandhi

(D) Jawaharlal Nehru

H T {3 BT ART g fear
(A) e SR
(B) gHY I a9

(C) wRTHT gt
(D) STATER dTd 78




50. What is the ratio of width to the length of national Flag of India?
YRA & AP G B AaTs Bl AISTs BT SIUTd HT 52
(A)1:3
(B)2:3
(©)3:2
(D)3:1



